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t=0 R t
t R(1), R( 1)
R(t) R(t) .
R(t) d—%(t—).

L= RO=R

k > 0, . R(t)

(111)



t R( 1) (11 1)

R(t) .
R(t) = ce “ (112)
(1121) , c : (112)
R(0) = R, c= R : ,
R(t) = Re" (113)
(113) : R(1)
112 L ,
Ll L
m 1
( 11). ( )
t s = AB, :
s= |16
0 :
11 , S © : s AB
F mg
F=mgano,
dt dt ’
d2
mL ac = - mgsinB .

F S AB
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d6 _ g.
rral s LR (11 4)
: ( sing ,
6 ) :
do
0 dt
6(0) = 0,, %(tmze'o. (11 5)
112 , 5
(1) ;
: ; (2)
; (3)
112
( )
dy _
ot =0, (11 86)
dy y[d_y]z_
%t Max O (1127)
dy .dy .
dx' +5dxz+3y—smx, (1.1 8)
G-
mz = Fltugrl, (1109)

—‘S’+ = v, (1 1 10)
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2 y . ( )

, (116) (1109)
(1110) (141 11)

(11 86) , ,
. ,(117) (119 (118)
n
dy dy|_
F[ X Yigxe rvax) -9 (1112)
dy d_y] dy dy
Al %Y gx "d X' “Yidx dy ’
dy
ax 7Y X
y=@(x) (a, b) n : y=9(x),
QX— [ d_nx_ (n)
dX—cp(x), ,an—cp ( x) (1.1.12)

F(X,@(x),9 (x), ,9"(x))= 0, X (ab),

y =@ (X) (1.1 12) (a, b) .o, y=¢e”“
(L16) (-0, +cw) .y = tanx y:1+y2
53]
S22
F(x,y) =0 y=@(x) (1.1.12) :
F(x,y) =0 (1.1.12) :
xdx + ydy = 0

X +y -¢c=0.
G,G, ,G

y=0(x,6,6, ,G)
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n (1.1 .12) : Yy=0(X,¢,G, ,G) n
(x,a,¢, ,G) ,
-0 -9 0
G G G
G G “ 12 0.
(n-1) (D(n—l) (n-1)
G G G
Yy = GCOSX + GINX
y +y=20 (11 13)
Yy = G COSX + G COSX
, Y1 = COSX,
Y» =9NX, Y = COSX + 9N X (1.1 .13)
: n (11 12) Xo
dy( X dy"" Y (% -
y(xo)=yo,—yo(|x)=yo, : ydxn.(l ):yé " (1114
(11 12) (11 14) (11.1)
113
, Maple , Mathemati-
Maple

ca



: Maple
113 Maple y=244+x-1

dx = 2x- y+7

: . Maple
y:=x->2* (4+x)N12) - 1;
y. prime: = diff(y(x),x) ;
y.right: = (y(x) - 1) (2* x-y(x)+7);
difference. left. right: = amplify(y. prime - y_ right) ;
y=2 Ja+ x -1, y ,
y (1.1 15) ,
Maple
y:=X-2 Ja+x-1
y. prime: = 1
_ © a+x
y. right: = 2 Ja+x-2
' © o 2x-2 {4+x+8
difference. left. right: =0
’ y:2«’4+x-1 (1 1 15)
(1.1 .15)
114 Maple
tx - Inx -t =0 (11 16)
X = x(t)
dx _ 2tx - X
dt = tx-1 (1117)
: Maple

equ: =t* x-In(x) - "2=0;
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equl: =subs(x=x(t),equ) ;
equ2: = map(diff,equl,t);
X. dot: =diff(x(t),t);
X. dotl: = solve(equ2, x. dot) ;
(11 16), (1.1.16) X X (1) )
X (1) (1.1.16) , x(t) t
x_ dot, x(t) t : Maple
equ: =tx - In(x) - t =0
equl: = tx(t) - In(x(t)) - £ =0
—tX(t)
equ2: = x(t) +t[ —tx(t)J T TX(D) 2t=0
X. dot: :—tx(t)
oo x() (- x(t) +2t)
X. dotl: = tx(t) - 1
, (1.1 .16) (1.1.17)
114
17 .
17 18
1864 Leverrer ’
sin X
’ 1 y = X !



Bess
XYy +x) +(X -n)y=0
Riccati

y = P(X)Y + Q(x)y+ R(x)

Cauchy

(1 118) n

Taylor
Euler Runge-Kutta

(1 118)
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, Maple
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(1) ;

(2) l;
(3) ;
(4) a’;
(5)

To A
5. m , 3¢

6. y = y(x) Ox , P
y = y(x)

7. (A,B,C

(1) y= AX; (2) y= Cce*;

(3) y= A+ Be'; (4) C(y+C)° = x°;

() 2o+ Lo =1 (6) p = A(L-co9),(p.0)

) X = C(t- sint),
(7) { j

y = C(1 - cost),
(1) X'y + xy +2y=snx; (2) 1+ Y)Yy +xy +y=e";
(3) y +sn(x+y) =snx; 4 Y™ +y+y=0;
(5) ¥y = f(x,y); 6) F(x,y,¥,¥,y) =0;
(7) y+p(x)y +a(x)y=9(x); (8 y+xy=0.

(1) y-y=0y=sx;
(2) y =y -(X+1y+2x, y= X +1

(3) (1- X)y +xy=2x,y=2+cA+1- %X ,c



10 - 1
(4 Yy + y=scx, y=ocosxlncosx + xsinx,0 < x <1 %,
(5) Y -2xy=1,y=ej' e fdt+ e’
_ f(x) d(x) _a(x).
©® Y =550 0 YT
(1) vy +y=o, y=9<|°[g2x]°°5%x'
10. dgi:Zx:
(1)
(2) (1,4)
(3) y=2x+3
(4) [ y(odx =2
(5) (2) (3) (4)
11. r y =
(1) y +2y=0; (2) ¥y -y=0;
(3) y+y -6y=0; (4 y -3y +2y =0.
12 . r y= X
(1) xzy'+4xy+2y:O; (2) xy’ 4xy + 4y = 0.
13" . y= (Xx) g—\iz y(a - by) , a b
(1)
(2) y , y= (x)
(3) y= (x) y
(4) y= (X
8§12
? y = 2Xx y= X + ¢,
Y( %) = Yo y=X +¥% - X .
d
B = f(x,y), V(%)= Y (12 1)



8§12 11-
121
y =y, y0) =1
__1 —
y—l_x, (-00’1) . y(l)_-2
2 1
Y=12x (. *e)
y=-5. ¥y0) =a (a>0)
y=da - x, (- a a)
dy 2;3Y x# 0,
ax - y(0) =0
0, x = 0,
b (-oo1+oo) b
C1€X4 - i2], x > 0,
X
y(x) =7 0O, x =0,
CzQX&'iz], X <0
- X
: f(x,y)
121
1.
X =1+ _-9nX (122

10

(12 2) :
X =1,



12 -

1
x1:1+1—105inx0,
x2=1+1—10sinx1,
(123
xn=1+isinxn.1
10 ’
{x}. limx=x , (12 2)
: Cauchy : , g >0
np,
| Xm+1 = Xo | =75 |SINXm - SINXm-1 |[€ < L | Xo - X | < L
10 10" 0™’
Xn+p - Xn < Xo+1 = Xa + Xn+2 = Xn+1 + + Xn+p - Xn+p-1
| |< | | + | | | |
1 1 1
< 1On[1+10+ +1OP'1
110
T 10" 9
N=2+{Iné/ln10}, N> N | Xep - X | <€ Cauchy
nIiryxn:x* . (1223) x (12 2)
X y (12 2) , (122)),
N
| x -y |=71glsnx -sny [ 5]x -y |
X :y* , (122
(12 2) : ,
(121)
122
dy _ _
o =V v(0) =1 (124
y = y(x)

, (12 4)
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y( x)
y( X) =1]r _y(9)ds. (12 5)
y = y(Xx) (1205, (12 4)
(124 (125)
(1 2 5)
Yo(X) =1,
p(0) =14 w(9ds=1+ x,
Y2 ( X) :11 :yl(s)ds:1+ x+2L2!,
yn(x):lf:yn.l(s)ds=1+x+2£!+ +nA|
Yo ( X) , limy.(x) =€,
y=¢ (12 4) ,
: y=0(x) y=uy(x), 9g(x)=e(x)-w(x),
g( x)
g(x)=¢" (x) -¥ (x)=9(x), 9(0)=0.
(d(x) - g(x))e” =0, (g(x)e’) =0, g(xe’
g(0) =0, g(x)e’ =0, g(x)= 0, o(x)= p(x).
(12 4)
122
f(x,y)
R={(x. V)l x-xl<a |y-wl|s b
L > 0, (X, y1),(X, %) R
| f(x, %) - f(X, %) [s LIy - y2 1,
f(x,y) R y Lipschitz , L Lipschitz

11 f(x,Y) R y Lipschitz
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(12 1) | X - % | h | h:mir{a,mb},M:
Jmax | f(x,y) |-
11 Picard , 122
: (121)
X £ X< X + h , X - hs X< X )
(1) .y = y(X) (121) . (1221)
y( x)
y( x) = yof (s, y(9)ds. (126)
y = y(x) (12 6) o Y(x%) =Y, f(Xxy)
(1 2 6) , o Y(x) . (1 .26) Yy (x) =
f(x,y(x)), y=y(x) (121 ) (121
(12 6) :
(1 2 6) (121)
(2) Picard . @o(X) = Yo, (1.2 6)
@: (x) = y°i[ f(s.90(9))ds.
@: (x) , @:(X) =@o(X), @o(X) (1.2 6)

®: ( X) (12 6)

@.(X) = y°1[ f(s,9:(9))ds.

0

P2(X) = @:(x), @:(x) (1286)

®.(X) = yoj’ f(s @n:(s))ds. (127
{p.(x)}, Picard
(3) . Picard {@.(X)},
11 n X [%,X% + h],@.(x)

| @.(X) - Yo | b. (12 38)



§12 . 15.

@o(X) [X, X + h] : (128) . @.(X%)
[ %, % + h] 128 , (127
(pn+1(X) [Xo,Xo+h]

[ @i (X) - yo I<[ 1 f(5,90(5)) | ds

0

< M(Xx- %)< Mhsg b.

(1 2 8) . 11
12 {0 (X)} [ X%, X% + h]
cpo(x)+Zl(cpk(x)—cpk.l(x)),xos X< X + h. (129
n

S(X) = Qo (x) + 5 (@c(X) - @2 (X)) = @n(X) .

, {0 (X)} (1209)
(12 09)

1900 - @0 () I<[ 1 1(s,%) [ dss M(x - %).

%0

10:(0 - () [<[ 1 f(s.0:(9) - f(5.9:(9) | ds
< f 109 - @o(9) | ds

" ML 2
< - < — -
_JonMls % | dss SF(Xx - %) .

Lipschitz , n,

MLn—l
n!

| @a(X) - @02 (%) [ (x- %),

X £ X< X t+h

| @i (X) - @n(X) ISI 1 T(8,94(9)) - T(s,9n-2(8)) [ ds

< [ 199 - (9 I ds
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MLs n _ ML" n+1
< TLJ'—XO(S- X ) 'ds = (h+ D) (X - %)

K
k-1 k
10e(x) -0 (x) Is ME < xs %+ h. (1210
i 1 h
zI\/IL'lk—I . Weiestrass , (129 X <
X< X + h : 12 .
(4) Picard (12 6) . 2

{0.(x)} [X%, % + h]

Iime.(x)=@(Xx), X< xs X% +h.

@n(Xx) @ (x) [ %o, % + h]
13 o@(x) (1.2 6) X< X< X + h
Lipschitz
| FOX,@n (X)) - (X, 0(X))[s L[@n(X)-0(X)]
{¢(X)} X< x< X% +h : { ()} (x) =
f(X,0n(X))) < X< X + h f(x,0(x)) . , (127
lim@.(x) = y + !i{f' X f(s,@.(s))ds

= yof ) Liﬁrp f(s,@.(9s))ds,

®(x) = yoi[' f(s,(s))ds.

0

(%) (1286) . 13
(5) : :
(1 2 6) e(x), (126) [X, X%+ h] PY(x),
P(x)= @(x) .
14 W( x) (12 86) [ %, Xo + h]
P(x)= @(x), x [%,X% + h].
g(x) =[w(x) -o(x) [, 9g(x) [ %, %o + h]

P(x) @(x) f( x,y) Lipschitz
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9( x) Sf | 1(s,w(9)) - f(s,0(9) | ds

< }X | y(s) - (9 |ds=}x g(s)ds.

a0 = f a9 u(x) [%, % + h]
u(x) = 0,05 g(x)< u(x),u(x)= Lg(x) .
U (x)< Lu(x),(U(x)- Lu(x))e “<0.
Xo X

u(x)e "< u(x)e °=0.

g(x)< u(x)< 0. g(x)= 0,x [X,X% + h]. 14
11
123
11,
(1) Lipschitz : f(x,y) R
f(x,y), f,(x,y)
R , K(xyy) R I H(xy)Is L R

| (X, y1) - fF(X, ¥2) IS [ (X, % +0(yi - )| - ¥

S Lly-¥wl.

(2) hzm{&ﬁ} . R | f(x,y) | M,

(12 1) - M M . (X, ¥)

MM Ms 2 12() . y=0(x
Xo - as< X< X + a M > — 1 2(b) y

= @ (X) Xo as X< X + a R
f(x,y) X% - s XS %+ Y= 0(%)

) ] M— —_— M )
R | X - X% | h. 12 (Xo, ¥o)
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y=b \ y=b

y=9() k/ ~ \0 -~
N A NF

y=—=5a \ y=—2~
r=Ta x=d x=—b/M x=b/M\
(a) (b)
12
(3) 11 ,
11,
(-oo, +oo) (20l
12 f(x,y) xOy , Y Lipschitz
] Nl
| f( X, y)I< NJ|y],
(121) (-, +o0)
(4) 11 f( X,Y) , T( X, y)
y Lipschitz
11
123
y = y(x) [o,%} : X {o,%] | y(x) |s 1.
_ 1
a= 2,b— 1,
1
R={(X,y)‘IX|S—, | yls 1}
Lipschitz : Po( %o, Yo) Ro = {(x,y) || x- Xo|< @&, |y- yols
b0}= PO LP0= "(Xiyl)i(xvyZ) RO |f(X=yl)' f(X,y2)|S Lpolyl'y2|'

f(x,y) Lipschitz
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2

Cf(x,y) = X +¢e’ : y

M= max{x +e” =1+[%]2 =%’

(x,y) R

.11 1
h=mn{2 54 =2

(1.2 .11) y = y(Xx) -%s X <
% | 0< xs% . 0< x< % (12 11)
y(x)= 0,
y(x) (s +exp(- y(9)))ds
* ;]2 ] _5 _ 5
SIOHZ +1jds= ,xs o<1
124
g—¥:1+y2’ y(O):O (12.12)
ab  f(xy) =1+Yy
R={(x.y) I x|=< a,|y|< b}
: y
M= max f(x,y)=1+b,
o b }
h—mlr{a,l_'_bz .
b _ b _
a b ’ bl 1+b2 ’ b_l 11+b2_
1 b _ _
2 1+ 0 a=bb=1 te
(12 12) S 5< xs 5
1
(12 12) | x|s 5
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i
P1[21y1 ’

d ’ 1
Efi =1+, y[in =y . (12 13)
(12 13)

1
R =106y | 1x-Lis aly- vis b

(xy) R

: b
h:mlr{ a,1+(yl+b)2}.

M= max f(x,y)=1+(w+b)’,

b= {1+ y b 1+ %
- Y ’ 2 h = 2.2
1+ (y + b) 1+ (y + {1+ )
b= ,/1+yi,a=h1, (1.2 .13) %s xs%+hl
(1212) (12.13) , (12 .12)
-%s X < %+ h, ,
: (1.2 .12) y = tan X,
|x|<%u
125
ay _ 4 . v, y(l) =1 (1 2 14)
d x
Picard 3
(1 2 14)
WX)=111(1+f(9MB-
Picard ,
Yo (x) =1,
mpo:1f1(1+fms:1+mx-1y

Vo (X) = 1]f :(1+ (1+2(s- 1))3)ds
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=1+2(x-1)+3(x-1)"+4(x-1)" +2(x- 1)
Picard : Maple
(1.2.14), Maple
yo: =1;
yl:=1+int(1+y03,x=1.X);
y2:=1+int(1+y1"3,x=1 . X);
y3:=1+int(1+y23,x=1.X);

Picard 4 , Maple
yOo: =1
yl: = 1+ 2X
y2: = 142X +4x +3X +2X
_ 8 1 116 10 81 s
y3: = 1+13x +AXT + 12X+ = 5 X + 34X +2x
+2—;9x7+33 +%7x + 14X + 7x + 3% + 2x
126 Picard
dy _ _
ax = 2x(L+y), y(0) =0 (1 2 15)
(1 2 15)

y( X) :I 1X25(1+ y(s))ds.

¥ (x) =0,

vi ( X) i 0X23d3= X,

Yo ( X) j’ 2s(1+ s)ds= X + PEE

ys(x)j\ {1+2 Zi]d :x2+2L!+%,

_ 2oL X X
yn(X)—X+2!+3!+ +n!'

limyn(x) = e -1.

2
X

(1 2 15) y=¢€e -1.



